Q Solution Marks | Total Comments
1 (a)
R, WDP L A M1 s.c.a.
1 DP L AIR||W Al two lists
D A T ]| P L |R|W Ml pivots indicated
AT |L [P [R[W Al both sublists
A|D|I |L |P R W Al 5 all correct with consistent use of pivots
[any place can be pivot but must be
consistent]
Total 5
Q ¥ Solution Marks | Total Comments
@y 7 13 26 8 15 6 56
4 713 26 8 15 6 56 M1 sc.a
4 7 1326 8 15 6 56
4 7 13 268 15 6 56
4 7 13 8 26 15 6 56
4 7 13 8 I5 26._-6 56 Al for 26
4 7 13 8 15 6 2656
4 7 13.__8 15 6 26 56 AlF for 15
4 7 8 1315 6 26 56
4 7 8 13 15.__6 26 56
4 7 8 13__6 15 26 56
4 7 8.6 13 15 26 56
4 7.6 8 13 15 26 56 Al 4 all correct
4 6 7 8§ 13 15 26 56
n(n—1)
(b) 7+6+5+4+3+2+1 Ml use of
=28 Al 2
Total 6




Q Solution Marks | Total Comments
3 @41 23 12 45 17 11 26 58 3 24 MI SCA
23 12 17 11 26 3 24 [41] 45 58 Al 2 sublists
12 17 11 3 26 24 [41] [45] 58 Ml Subdividing 2nd time
1 3 17 24 Al Pivots shown
s IEOEEEDEE (v | 5 |Aom
B} 19 s Mi OR  9+8+7..
Al 2
()| 58 45 41 26 24 23 17 12 11 3 Bl 1
Total 8
Q Solution Marks | Total Comments
1 14 27 23 36 18 25 16 66 MT? SCA
-7 X e -~ X 00 Al for comparing 27 & 25 or 16 & 23
14 25 16 36 18 27 23 66 Al All correct
14 25 16 27 18 36 23 66 M1 for 2 groups of 4
Al for 27 & 36
14 16 18 23 25 27 36 66 Al All correct
Total 6




